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1. K@= JE—rKRIO—)LEEHBI=vk
2. fs4=  |ECV-D75,98,110A1
3. HFREET
(OB E=E M M= 202 kg
QHB/EE W W=M x 10/1000= 2.02 kN
(2)7Uh—K b
DBAEE :n n= 4 A
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@—AH-YDEhETETE (FFRIZK LM EE) A= 11304  |om?
OB EEEZEZA-HEAEDEIRYEZITDERBIDOTU/A—K MMERE: nt
nt= 2 N
RFEFELVEFEDETOES hG= 52.3 cm
(4)REFT BARMDSH =R VAN Y |= 80.0 cm

(B)RE T DA MM oI =K M IDN R EDETDKFEIER
IG=[__ 381 Jem (G=I/2)

4. RETETE
(1 ERETAKEEE :KH KH= 1.5 95,
(2)E&ETRKFEMED FH FH=KHXW= 3.03 kN
(3)ERETAMEHESN FV FV=1/2xFH= 1.52 kN

(D) Toh-KWDIREH-YDEIRN :Rb

Rb={FH-hG—(W—FV)-IG} “{I'nt}=[____ 09 |kN

B)TUh—K MDIRA-YICERTHEAMA :Q

Q=FH/n=[__ 076 _ |kN

(6)TUh—KWMZET B HE

DBI-RYIEHE o U=Rb/A=| 0.77 |kN/cm2
o=[077 ]| <#=]| 176 |kN/cm?
QEAMIEHE T T=Q/A=]| 067  |kN/cm?

r=| 067 | <fs=[ 101 |kN/ecm’

@3I2RYEFAMERFFIZZITHEE
fts=14f—16T =] 236  |kN/cm?

o=[___ 077 | <fts=[___ 236  |kN/om’
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O7Uh-KWMELZE = miREXIN, JARBRUAN R LMTE |
@avy)-tEE=[__ 180 |mm =|_ 018 |m
QR M DEDHAH RS
L=[_ 128 |mm =[_ 0128 |m
@ ASIEhETE Ta= 5.6 kN

Ta=[ 56 JkN>Ro=[ 09 kN
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